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[H2O]
k2[O2 ]K

1
[OH– ]
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�m�.2,
% 1/kapp * 1/[OH–] �I��01-/

�'�!"fi��& ;� = 1167 mol L–1 s–1, =_ = 2326 s–1��($& [H2O]/K = 
1167/2326 = 0.5017 mol/L�[H2O] = 55.5 mol/L $& K = 1.10�102� 
 
3. (1) sOP$& 74��@RP��W�'}S + I → 2I, I → R�3ce�P�kLoFd
��'��*g���'� 

(2) dN
dt
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dS
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dI
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+
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= −rSI + rSI − aI + aI = 0 , $�� N�3H� 
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4. @RsO�][6� C�^O [C] �Z:�'�D � C {<G
%bU�('�� [C] + 2[D] 
= [C]0 ��'�NlP
% [D]/[C]2 = ([C]0 – [C])/2[C]2 = K, �(*[C] ����n
� 

[C]= 1+8K[C]0 −1
4K

     [C]0 = 1.0×10–3, 5.0×10–3, 1.0×10–2 �I�� [C] = 3.90×10–4,  

1.0×10–3, 1.46×10–3�@RsO� [C] �Z:�'�� {ce�V�sO* v ��( zce 
|ce�V�sO��(�( 0.390 v, 1.46 v ��'� 
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